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x=20

x =40

Find the value of x.
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bh<-=2

h>=2

b<2

h>2

Solve the inegquality
41-# - “b-l

L
41-! = Hh-l
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In the figure, (O P =() Q. OP=0Q L
Find RS. ‘RS 1
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Solve the equation.
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A bag of jellybeans contains 7 red, colpan nld T o lad gl e Jalt
10 yeliow, and 13 green. Jalal picks two iy alyenn dalsd 13y culhes adei 10
jellybeans from the bag without looking. ki | Lys el e e ek Bla
What is the probability that he picks Tolhas daled o sloen dalell ajhid! Joda! e

a red one and then a yellow one?
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Select the graph of the triangle KL e LU I =
after a reflection in the line y = 3. ¥ =3 kel Al
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Solve the equation

2757 — FI0r+30
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QO  y=500,00000 77)"
O  y=500000(0.23)"
O  y=500000(123)"

O  y=500000(1.77)"

Clothes company value grew about
23%, each year. i the company value
was AED 500, 000.

Write the function that represent the
company s value after 1 years.
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log; 75 = dog, 75 =

24 log,3

1+ log, 3

1+ 2log.3

2-log;3 p
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Classify the type of angle in the

figure below.
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£ RST is shown below. lsl maape A RST S0
Which of the following shows ~ RST Al 3 A RST S840 g b Las 5
3 3

dllu-dhynmnhhcmulﬁu m.wjﬁ_,.u.n,j.h.nmml
create a similar triangle » LAM? T4 LNM i

R 6 T

4

7.2
5

ol [al) s ol mda Sam P



x=75
x= 105
x =90

x = 100

The necklace charm shown uses a
quadrilateral inscribed in a circle.
Find the valus of x.
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58%

15%

51%

If the probability of hitting the ball is
49%,, what is the probability that you
will not hit the ball?

2 L 9% A s Jldal A1)
e

[REEIEE T e S S e o |



ﬂ'(l] = zl—l
ylx)=2"-3
glx) = -2

glx)=-2-*

The graph is a transformation of the
parent function f(x) = 2.

Uss the graph of the function to write its
equation.
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428

32°

Find the value of ms2.
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How many possible outcomes are there
if you spin the spinner, and you tossed

the coin?
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Identify a chord that is also
a diameter.
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What is the image of point N after gl Sl s N dbill §pa L
a rotation of 180° about the origin wladl ey Judlil dbki Jga 1807 igaisd
in a counterclockwise direction? rle Ll olie
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(—-4.3)

(4.3)

(—-3.-4)

(4,-3)
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lng_zm= 7
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Write the equation in logarithmic form.
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Which preimage of quadrilateral
W'X'Y'Z' shows that the
transformation WXYZ — W'X'Y'Z
is a translation?
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State the order and magnitude of
mwﬂimnq for the figure.
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Find the diameter of e circle:
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Show all your work when answering these questions.
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Triangle QRS is circumscribed about
© W. Find the perimeter of QRS.
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\ -n..-ﬁ)n-t Mathematics - Bridge

h Question

A student identification card
consists of 3 digits selected from
9 possible digits from 1 to 9.

Digits cannot be repeated. -
Find the probability that a

randomly generated card has the

exact number 721.
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Two dice are rolied. What is the @Hﬁu.awwﬁ.
probability that doubles are rolled T1] g pana Cutin 3 Culiilain s
or that the sum is 117
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